









## Consider non-turbles flow. radius of sphere = 6TT R7 viscosity of medium Consider the trajectory of head in water. positive direction is up F = ma = = - [ (x + mg

| 
$$| (x + m)/c \rangle = -\int_{c}^{c} t + con^{3}$$
 |  $| (x + m)/c \rangle = -\int_{c}^{c} t + con^{3}$  |  $| (x + m)/c \rangle = -\int_{c}^{c} t + con^{3}$  |  $| (x + m)/c \rangle = -\int_{c}^{c} t + con^{3}$  |  $| (x + m)/c \rangle = -\int_{c}^{c} t + con^{3}$  |  $| (x + m)/c \rangle = -\int_{c}^{c} t + con^{3}$  |  $| (x + m)/c \rangle = -\int_{c}^{c} t + con^{3}$  |  $| (x + m)/c \rangle = -\int_{c}^{c} t + con^{3}$  |  $| (x + m)/c \rangle = -\int_{c}^{c} t + con^{3}$  |  $| (x + m)/c \rangle = -\int_{c}^{c} t + con^{3}$  |  $| (x + m)/c \rangle = -\int_{c}^{c} t + con^{3}$  |  $| (x + m)/c \rangle = -\int_{c}^{c} t + con^{3}$  |  $| (x + m)/c \rangle = -\int_{c}^{c} t + con^{3}$  |  $| (x + m)/c \rangle = -\int_{c}^{c} t + con^{3}$  |  $| (x + m)/c \rangle = -\int_{c}^{c} t + con^{3}$  |  $| (x + m)/c \rangle = -\int_{c}^{c} t + con^{3}$  |  $| (x + m)/c \rangle = -\int_{c}^{c} t + con^{3}$  |  $| (x + m)/c \rangle = -\int_{c}^{c} t + con^{3}$  |  $| (x + m)/c \rangle = -\int_{c}^{c} t + con^{3}$  |  $| (x + m)/c \rangle = -\int_{c}^{c} t + con^{3}$  |  $| (x + m)/c \rangle = -\int_{c}^{c} t + con^{3}$  |  $| (x + m)/c \rangle = -\int_{c}^{c} t + con^{3}$  |  $| (x + m)/c \rangle = -\int_{c}^{c} t + con^{3}$  |  $| (x + m)/c \rangle = -\int_{c}^{c} t + con^{3}$  |  $| (x + m)/c \rangle = -\int_{c}^{c} t + con^{3}$  |  $| (x + m)/c \rangle = -\int_{c}^{c} t + con^{3}$  |  $| (x + m)/c \rangle = -\int_{c}^{c} t + con^{3}$  |  $| (x + m)/c \rangle = -\int_{c}^{c} t + con^{3}$  |  $| (x + m)/c \rangle = -\int_{c}^{c} t + con^{3}$  |  $| (x + m)/c \rangle = -\int_{c}^{c} t + con^{3}$  |  $| (x + m)/c \rangle = -\int_{c}^{c} t + con^{3}$  |  $| (x + m)/c \rangle = -\int_{c}^{c} t + con^{3}$  |  $| (x + m)/c \rangle = -\int_{c}^{c} t + con^{3}$  |  $| (x + m)/c \rangle = -\int_{c}^{c} t + con^{3}$  |  $| (x + m)/c \rangle = -\int_{c}^{c} t + con^{3}$  |  $| (x + m)/c \rangle = -\int_{c}^{c} t + con^{3}$  |  $| (x + m)/c \rangle = -\int_{c}^{c} t + con^{3}$  |  $| (x + m)/c \rangle = -\int_{c}^{c} t + con^{3}$  |  $| (x + m)/c \rangle = -\int_{c}^{c} t + con^{3}$  |  $| (x + m)/c \rangle = -\int_{c}^{c} t + con^{3}$ |  $| (x + m)/c \rangle = -\int_{c}^{c} t + con^{3}$ |  $| (x + m)/c \rangle = -\int_{c}^{c} t + con^{3}$ |  $| (x + m)/c \rangle = -\int_{c}^{c} t + con^{3}$ |  $| (x + m)/c \rangle = -\int_{c}^{c} t + con^{3}$ |  $| (x + m)/c \rangle = -\int_{c}^{c} t + con^{3}$ |  $| (x + m)/c \rangle = -\int_{c}^{c} t + con^{3}$ |  $| (x + m)/c \rangle = -\int_{c}^{c$ 

